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NI.A.'Exa mina tion, 2022
SEMESTER_rY. 
ECONOMICS

- Course: Op_12
(Environment and R"source Economigs)

Questions are of value as indicatecl in the margin
Answer any fo ur questions

l' Discuss the possible. relationship between poverty and environment. Explain in thiscontext the logic behi'd the Environmental r,,r""i, curve hypothesis. 
' ^'^ 

,*i = , o
2' Detine sustainable development. Critically examine Hartwick,s rule in this context. whaiare the alternative approaches to achfeve sLrstainable devetopmentz 2+3+5=10

3' (a) In the context orp"ri,tiir" rootrol,.ursuming 
'sual 

shape of Marginal Abatement cost(MAC) schedules of all poll'ters, derive the co-ndition fbr a targeted total abatemdnt thatminirnizes the aggregate abatement cost for the ,n.i"iy.

(b) Show how a system of tradable permits can achieve the conditions you derivedabove' 
4+6:19

4' Explain tire concepts of 'uscr cost' and Hotelling's Rule lbr extraction of an exhaustiblenatural resource' Derive-the time path of price rir r.on u resource. when do you thinJ<tl-re time patir may be diJftrent? 
4+4+2=10

5' Fior'v'etlbrt'is definecl i'the context of fjsheries economics'? Derive. moth.*ati.ally orwith diagrams. the relationship between sustainzrbte rruru.riJy[ilj;il;i;ii r.u.t.Show that fbr sr-rstainable harvesti'g. the efTorr revel is 
"I,iu}:;;1.'""0"'. "r.,-, a".esr'c<rmpared to monopoly ownerslrip nf firh.rv r..rnur.rr. 2+4+4:J0

6' fror a tbrest stantl wjth homogeneolrs trees, what cio you l'can by .stumpage 
vaiue,2 Hor,vit ciranges over time? Explaii how the optimum harvesting time of timtei fbr a privatelyowned lorest starrd migrrr be rerarted to tire monerary;;il?";;;h;;;;;." 2+J+5:1g

7. Make a comparative asses.sment of .revealed, and ,stated, preference n_rethods ofenvironmental vaiuation. Give example of * *.o*ylrr"m serv.ice that can be valtred byhedonic property price metrr<lci witrr a brief clescripti* orrn" method. 6+4: 19

8. Write short notes an un); ty)o of rhe fbllowing:
!1). 

Corryon poolr.ruui, ancl trageciy of commons
I if I Ambient po I h-rrion an cl trzrnsfe. .*in.*"i 

rrl*rv^ rr

(iii) Total Economic varrie (l'EV) o1'ecosy5lem services

Full marks:40

5+5 = 10


